# Fekete-Szegö problem and Second Hankel Determinant for a class of bi-univalent functions 

N. Magesh ${ }^{1, *}$ and J. Yamini ${ }^{2}$<br>${ }^{1}$ Post-Graduate and Research Department of Mathematics, Government Arts College for Men, Krishnagiri 635001, Tamilnadu, India.<br>${ }^{2}$ Department of Mathematics, Government First Grade College, Vijayanagar, Bangalore 560104, Karnataka, India. E-mail: nmagi_2000@yahoo.co.in ${ }^{1}$, yaminibalaji@gmail.com ${ }^{2}$


#### Abstract

In this paper we define a subclass of bi-univalent functions. Further, we find the estimates on the bounds $\left|a_{2}\right|$ and $\left|a_{3}\right|$, the Fekete-Szegö inequalities and the second Hankel determinant inequality for defined class of bi-univalent functions.


2010 Mathematics Subject Classification. 30C45. 30C50
Keywords. Bi-univalent functions, bi-convex functions, Fekete-Szegö inequalities, Hankel determinants.

## 1 Introduction

Let $\mathcal{A}$ denote the class of functions of the form

$$
\begin{equation*}
f(z)=z+\sum_{n=2}^{\infty} a_{n} z^{n} \tag{1.1}
\end{equation*}
$$

which are analytic in the open unit disc $\Delta=\{z: z \in \mathbb{C}$ and $|z|<1\}$ and let $\mathcal{S}$ denote the class of functions in $\mathcal{A}$ that are univalent in $\Delta$. It is well known (e.g. see Duren [17]) that every function $f \in \mathcal{S}$ has an inverse map $f^{-1}$, defined by $f^{-1}(f(z))=z, z \in \Delta$ and $f\left(f^{-1}(w)\right)=w$, $\left(|w|<r_{0}(f) ; r_{0}(f) \geqq \frac{1}{4}\right)$, where

$$
\begin{equation*}
f^{-1}(w)=w-a_{2} w^{2}+\left(2 a_{2}^{2}-a_{3}\right) w^{3}-\left(5 a_{2}^{3}-5 a_{2} a_{3}+a_{4}\right) w^{4}+\ldots . \tag{1.2}
\end{equation*}
$$

A function $f \in \mathcal{A}$ is said to be bi-univalent in $\Delta$ if both $f$ and $f^{-1}$ are univalent in $\Delta$. We let $\sigma$ denote the class of bi-univalent functions in $\Delta$ given by (1.1). For a further historical account of functions in the class $\sigma$, see the work by Srivastava et al. [47]. In fact, judging by the remarkable flood of papers on non-sharp estimates on the first two coefficients $a_{2}$ and $a_{3}$ of various subclasses of the bi-univalent function class $\sigma$ (see, for example, $[3-8,10-13,15,16,19,22,23,31-36,38-45,48-54]$ and references therein), the above-cited recent pioneering work of Srivastava et al. [47] has apparently revived the study of analytic and bi-univalent functions in recent years.

We say that a function $\varphi: \Delta \rightarrow \mathbb{C}$ is subordinate to a given function $\psi: \Delta \rightarrow \mathbb{C}$ and write $\varphi(z) \prec \psi(z)$ (or simply $\varphi \prec \psi$ ), if there exists a complex-valued function $w$ which maps $\Delta$ into itself, $w(0)=0$ and $\varphi(z)=\psi(w(z)) ; z \in \Delta$. In particular, if $\psi$ is univalent in $\Delta$, then $\varphi(0)=\psi(0)$ and $\varphi(\Delta) \subset \psi(\Delta)$.

For integers $n \geqq 1$ and $q \geqq 1$, the $q$-th Hankel determinant, defined as

$$
H_{q}(n)=\left|\begin{array}{cccc}
a_{n} & a_{n+1} & \cdots & a_{n+q-1} \\
a_{n+1} & a_{n+2} & \cdots & a_{n+q-2} \\
\vdots & \vdots & \vdots & \vdots \\
a_{n+q-1} & a_{n+q-2} & \cdots & a_{n+2 q-2}
\end{array}\right| \quad\left(a_{1}=1\right)
$$

The Hankel determinants $H_{2}(1)=a_{3}-a_{2}^{2}$ and $H_{2}(2)=a_{2} a_{4}-a_{2}^{3}$ are well-known as Fekete-Szegö and second Hankel determinant functionals respectively. Further Fekete and Szegö [18] introduced the generalized functional $a_{3}-\delta a_{2}^{2}$, where $\delta$ is some real number. In 1969, Keogh and Merkes [25] studied the Fekete-Szegö problem for the classes $\mathcal{S}^{*}$ and $\mathcal{K}$. In 2001, Srivastava et al. [46] solved completely the Fekete-Szegö problem for the family $\mathcal{C}_{1}:=\left\{f \in \mathcal{A}: \Re\left(e^{i \eta} f^{\prime}(z)\right)>0,-\frac{\pi}{2}<\eta<\right.$ $\left.\frac{\pi}{2}, z \in \mathbb{D}\right\}$ and obtained improvement of $\left|a_{3}-a_{2}^{2}\right|$ for the smaller set $\mathcal{C}_{1}$. Recently, Kowalczyk et al. [26] discussed the developments involving the Fekete-Szegö functional $\left|a_{3}-\delta a_{2}^{2}\right|$, where $0 \leq \delta \leq 1$ as well as the corresponding Hankel determinant for the Taylor-Maclaurin coefficients $\left\{a_{n}\right\}_{n \in \mathbb{N} \backslash\{1\}}$ of normalized univalent functions of the form (1.1). Similarly, several authors have investigated upper bounds for the Hankel determinant of functions belonging to various subclasses of univalent functions $[1,2,14,27,29,30]$ and the references therein. On the other hand, Zaprawa [53,54] extended the study on Fekete-Szegö problem to some specific classes of bi-univalent functions. Following Zaprawa [53, 54], the Fekete-Szegö problem for functions belonging to various subclasses of biunivalent functions were obtained in $[4,23,32,50]$. Very recently, the upper bounds of $H_{2}(2)$ for the classes $S_{\sigma}^{*}(\beta)$ and $K_{\sigma}(\beta)$ were discussed by Deniz et al. [16]. Later, the upper bounds of $H_{2}(2)$ for various subclasses of $\sigma$ were obtained by Altınkaya and Yalçın [6, 7], Çağlar et al. [12], Kanas et al. [24] and Orhan et al. [34] (see also [35]).

Motivated by the recent publications (especially $[5,8,16,34]$ ), we define the following subclass of $\sigma$.

For $0 \leqq \lambda \leqq 1$ and $0 \leqq \beta<1$, a function $f \in \sigma$ given by (1.1) is said to be in the class $\mathcal{G}_{\sigma}^{\lambda}(\varphi)$, if the following conditions are satisfied:

$$
(1-\lambda) f^{\prime}(z)+\lambda\left(1+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right) \prec \varphi(z), \quad 0 \leqq \lambda \leqq 1, \quad z \in \Delta
$$

and for $g=f^{-1}$ given by (1.2)

$$
(1-\lambda) g^{\prime}(w)+\lambda\left(1+\frac{w g^{\prime \prime}(w)}{g^{\prime}(w)}\right) \prec \varphi(w), \quad 0 \leqq \lambda \leqq 1, \quad w \in \Delta
$$

where $\varphi$ is an analytic and univalent function with positive real part in $\Delta, \varphi(0)=1, \varphi^{\prime}(0)>0$ and $\varphi$ maps the unit disk $\Delta$ onto a region starlike with respect to 1 and symmetric with respect to the real axis. The Taylor's series expansion of such function is

$$
\begin{equation*}
\varphi(z)=1+B_{1} z+B_{2} z^{2}+B_{3} z^{3}+\ldots \tag{1.3}
\end{equation*}
$$

where all coefficients are real and $B_{1}>0$. Throughout this paper, we assume that the function $\varphi$ satisfies the above conditions unless otherwise stated.

It is interesting to note that the classes

$$
\mathcal{G}_{\sigma}^{0}(\varphi):=\mathcal{H}_{\sigma}(\varphi) \quad \text { and } \quad \mathcal{G}_{\sigma}^{1}(\varphi):=\mathcal{K}_{\sigma}(\varphi)
$$

were introduced and studied by Ali et al. [3],

$$
\mathcal{G}_{\sigma}^{\lambda}\left(\frac{1+(1-2 \beta) z}{1-z}\right):=\mathcal{G}_{\sigma}^{\lambda}(\beta) \quad(0 \leqq \beta<1)
$$

was introduced by Azizi et al. [8],

$$
\mathcal{G}_{\sigma}^{0}\left(\frac{1+(1-2 \beta) z}{1-z}\right):=\mathcal{H}_{\sigma}^{\beta} \quad(0 \leqq \beta<1) \quad \text { and } \quad \mathcal{G}_{\sigma}^{0}\left(\left(\frac{1+z}{1-z}\right)^{\beta}\right):=\mathcal{H}_{\sigma}(\beta) \quad(0<\beta \leqq 1)
$$

were introduced by Srivastava et al. [47] and

$$
\mathcal{G}_{\sigma}^{1}\left(\frac{1+(1-2 \beta) z}{1-z}\right):=\mathcal{K}_{\sigma}(\beta) \quad(0 \leqq \beta<1)
$$

was introduced by Brannan and Taha [9].
In this paper, we shall obtain the Fekete-Szegö inequalities for $\mathcal{G}_{\sigma}^{\lambda}(\varphi)$ as well as its special classes. Further, we obtain the second Hankel determinant for functions in the class $\mathcal{G}_{\sigma}^{\lambda}(\beta)$.

## 2 Initial Coefficient Bounds

Theorem 2.1. If $f$ given by (1.1) is in the class $\mathcal{G}_{\sigma}^{\lambda}(\varphi)$, then

$$
\begin{equation*}
\left|a_{2}\right| \leqq \frac{B_{1} \sqrt{B_{1}}}{\sqrt{4 B_{1}+\left|(3-\lambda) B_{1}^{2}-4 B_{2}\right|}} \tag{2.1}
\end{equation*}
$$

and

$$
\left|a_{3}\right| \leqq\left\{\begin{array}{ll}
\left(1-\frac{4}{3(1+\lambda) B_{1}}\right) \frac{B_{1}^{3}}{4 B_{1}+\left|(3-\lambda) B_{1}^{2}-4 B_{2}\right|}+\frac{B_{1}}{3(1+\lambda)}, & \text { if }  \tag{2.2}\\
B_{1} \geqq \frac{4}{3(1+\lambda)} \\
\frac{B_{1}}{3(1+\lambda)}, & \text { if }
\end{array} B_{1}<\frac{4}{3(1+\lambda)} .\right.
$$

Proof. Suppose that $u(z)$ and $v(z)$ are analytic in the unit disk $\Delta$ with $u(0)=v(0)=0,|u(z)|<1$, $|v(z)|<1$ and

$$
\begin{equation*}
u(z)=b_{1} z+\sum_{n=2}^{\infty} b_{n} z^{n}, v(z)=c_{1} z+\sum_{n=2}^{\infty} c_{n} z^{n}, \quad|z|<1 \tag{2.3}
\end{equation*}
$$

It is well known that

$$
\begin{equation*}
\left|b_{1}\right| \leqq 1,\left|b_{2}\right| \leqq 1-\left|b_{1}\right|^{2},\left|c_{1}\right| \leqq 1,\left|c_{2}\right| \leqq 1-\left|c_{1}\right|^{2} . \tag{2.4}
\end{equation*}
$$

By a simple calculation, we have

$$
\begin{equation*}
\varphi(u(z))=1+B_{1} b_{1} z+\left(B_{1} b_{2}+B_{2} b_{1}^{2}\right) z^{2}+\ldots, \quad|z|<1 \tag{2.5}
\end{equation*}
$$

and

$$
\begin{equation*}
\varphi(v(w))=1+B_{1} c_{1} w+\left(B_{1} c_{2}+B_{2} c_{1}^{2}\right) w^{2}+\ldots, \quad|w|<1 . \tag{2.6}
\end{equation*}
$$

Let $f \in \mathcal{G}_{\sigma}^{\lambda}(\varphi)$. Then there are analytic functions $u, v: \Delta \rightarrow \Delta$ given by (2.3) such that

$$
\begin{equation*}
(1-\lambda) f^{\prime}(z)+\lambda\left(1+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right)=\varphi(u(z)) \tag{2.7}
\end{equation*}
$$

and

$$
\begin{equation*}
(1-\lambda) g^{\prime}(w)+\lambda\left(1+\frac{w g^{\prime \prime}(w)}{g^{\prime}(w)}\right)=\varphi(v(w)) \tag{2.8}
\end{equation*}
$$

It follows from (2.5), (2.6), (2.7) and (2.8) that

$$
\begin{align*}
2 a_{2} & =B_{1} b_{1}  \tag{2.9}\\
3(1+\lambda) a_{3}-4 \lambda a_{2}^{2} & =B_{1} b_{2}+B_{2} b_{1}^{2}  \tag{2.10}\\
-2 a_{2} & =B_{1} c_{1}  \tag{2.11}\\
2(\lambda+3) a_{2}^{2}-3(1+\lambda) a_{3} & =B_{1} c_{2}+B_{2} c_{1}^{2} . \tag{2.12}
\end{align*}
$$

From (2.9) and (2.11), we get

$$
\begin{equation*}
b_{1}=-c_{1} . \tag{2.13}
\end{equation*}
$$

By adding (2.10) to (2.12), further, using (2.9) and (2.13), we have

$$
\begin{equation*}
\left(2(3-\lambda) B_{1}^{2}-8 B_{2}\right) a_{2}^{2}=B_{1}^{3}\left(b_{2}+c_{2}\right) \tag{2.14}
\end{equation*}
$$

In view of (2.13) and (2.14), together with (2.4), we get

$$
\begin{equation*}
\left|\left(2(3-\lambda) B_{1}^{2}-8 B_{2}\right) a_{2}^{2}\right| \leqq 2 B_{1}^{3}\left(1-\left|b_{1}\right|^{2}\right) \tag{2.15}
\end{equation*}
$$

Substituting (2.9) in (2.15) we obtain

$$
\begin{equation*}
\left|a_{2}\right| \leqq \frac{B_{1} \sqrt{B_{1}}}{\sqrt{4 B_{1}+\left|(3-\lambda) B_{1}^{2}-4 B_{2}\right|}} \tag{2.16}
\end{equation*}
$$

By subtracting (2.12) from (2.10) and in view of (2.13), we get

$$
\begin{equation*}
6(1+\lambda) a_{3}=6(1+\lambda) a_{2}^{2}+B_{1}\left(b_{2}-c_{2}\right) \tag{2.17}
\end{equation*}
$$

From (2.4), (2.9), (2.13) and (2.17), it follows that

$$
\begin{align*}
\left|a_{3}\right| & \leqq\left|a_{2}\right|^{2}+\frac{B_{1}}{6(1+\lambda)}\left(\left|b_{2}\right|+\left|c_{2}\right|\right) \\
& \leqq\left|a_{2}\right|^{2}+\frac{B_{1}}{3(1+\lambda)}\left(1-\left|b_{1}\right|^{2}\right) \\
& =\left(1-\frac{4}{3(1+\lambda) B_{1}}\right)\left|a_{2}\right|^{2}+\frac{B_{1}}{3(1+\lambda)} \tag{2.18}
\end{align*}
$$

Substituting (2.16) in (2.18) we obtain the desired inequality (2.2). Q.E.D.

Remark 2.2. For $\lambda=0$, the results obtained in the Theorem 2.1 are coincide with results in [36, Theorem 2.1, p.230].

Corollary 2.3. Let $f \in \mathcal{K}_{\sigma}(\varphi)$. Then

$$
\begin{equation*}
\left|a_{2}\right| \leqq \frac{B_{1} \sqrt{B_{1}}}{\sqrt{4 B_{1}+\left|2 B_{1}^{2}-4 B_{2}\right|}} \tag{2.19}
\end{equation*}
$$

and

$$
\left|a_{3}\right| \leqq \begin{cases}\left(1-\frac{2}{3 B_{1}}\right) \frac{B_{1}^{3}}{4 B_{1}+\left|2 B_{1}^{2}-4 B_{2}\right|}+\frac{B_{1}}{6} & ; B_{1} \geqq \frac{2}{3}  \tag{2.20}\\ \frac{B_{1}}{3(1+\lambda)} & ; B_{1}<\frac{2}{3}\end{cases}
$$

## 3 Fekete-Szegö inequalities

In order to derive our result, we shall need the following lemma.
Lemma 3.1. (see [17] or [21]) Let $p(z)=1+p_{1} z+p_{2} z^{2}+\cdots \in \mathcal{P}$, where $\mathcal{P}$ is the family of all functions $p$, analytic in $\Delta$, for which $\Re\{p(z)\}>0, z \in \Delta$. Then

$$
\left|p_{n}\right| \leqq 2 ; \quad n=1,2,3, \ldots
$$

and

$$
\left|p_{2}-\frac{1}{2} p_{1}^{2}\right| \leqq 2-\frac{1}{2}\left|p_{1}\right|^{2} .
$$

Theorem 3.2. Let $f$ of the form (1.1) be in $\mathcal{G}_{\sigma}^{\lambda}(\varphi)$. Then

$$
\left|a_{2}\right| \leqq\left\{\begin{array}{lll}
\sqrt{\frac{B_{1}}{3-\lambda}}, & \text { if } & \left|B_{2}\right| \leqq B_{1}  \tag{3.1}\\
\sqrt{\frac{\left|B_{2}\right|}{3-\lambda}}, & \text { if } & \left|B_{2}\right| \geqq B_{1}
\end{array}\right.
$$

and

$$
\left|a_{3}-\frac{4 \lambda}{3+3 \lambda} a_{2}^{2}\right| \leqq\left\{\begin{array}{lll}
\frac{B_{1}}{3+3 \lambda}, & \text { if } & \left|B_{2}\right| \leqq B_{1}  \tag{3.2}\\
\frac{\left|B_{2}\right|}{3+3 \lambda}, & \text { if } & \left|B_{2}\right| \geqq B_{1}
\end{array}\right.
$$

Proof. Since $f \in \mathcal{G}_{\sigma}^{\lambda}(\varphi)$, there exist two analytic functions $r, s: \Delta \rightarrow \Delta$, with $r(0)=0=s(0)$, such that

$$
\begin{equation*}
(1-\lambda) f^{\prime}(z)+\lambda\left(1+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right)=\varphi(r(z)) \tag{3.3}
\end{equation*}
$$

and

$$
\begin{equation*}
(1-\lambda) g^{\prime}(w)+\lambda\left(1+\frac{w g^{\prime \prime}(w)}{g^{\prime}(w)}\right)=\varphi(s(w)) \tag{3.4}
\end{equation*}
$$

Define the functions $p$ and $q$ by

$$
p(z)=\frac{1+r(z)}{1-r(z)}=1+p_{1} z+p_{2} z^{2}+p_{3} z^{3}+\ldots
$$

and

$$
q(w)=\frac{1+s(w)}{1-s(w)}=1+q_{1} w+q_{2} w^{2}+q_{3} w^{3}+\ldots
$$

or equivalently,

$$
\begin{equation*}
r(z)=\frac{p(z)-1}{p(z)+1}=\frac{1}{2}\left(p_{1} z+\left(p_{2}-\frac{p_{1}^{2}}{2}\right) z^{2}+\left(p_{3}+\frac{p_{1}}{2}\left(\frac{p_{1}^{2}}{2}-p_{2}\right)-\frac{p_{1} p_{2}}{2}\right) z^{3}+\ldots\right) \tag{3.5}
\end{equation*}
$$

and

$$
\begin{equation*}
s(w)=\frac{q(w)-1}{q(w)+1}=\frac{1}{2}\left(q_{1} w+\left(q_{2}-\frac{q_{1}^{2}}{2}\right) w^{2}+\left(q_{3}+\frac{q_{1}}{2}\left(\frac{q_{1}^{2}}{2}-q_{2}\right)-\frac{q_{1} q_{2}}{2}\right) w^{3}+\ldots\right) . \tag{3.6}
\end{equation*}
$$

Using (3.5) and (3.6) in (3.3) and (3.4), we have

$$
\begin{equation*}
(1-\lambda) f^{\prime}(z)+\lambda\left(1+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right)=\varphi\left(\frac{p(z)-1}{p(z)+1}\right) \tag{3.7}
\end{equation*}
$$

and

$$
\begin{equation*}
(1-\lambda) g^{\prime}(w)+\lambda\left(1+\frac{w g^{\prime \prime}(w)}{g^{\prime}(w)}\right)=\varphi\left(\frac{q(w)-1}{q(w)+1}\right) \tag{3.8}
\end{equation*}
$$

Again using (3.5) and (3.6) along with (1.3), it is evident that

$$
\begin{equation*}
\varphi\left(\frac{p(z)-1}{p(z)+1}\right)=1+\frac{1}{2} B_{1} p_{1} z+\left(\frac{1}{2} B_{1}\left(p_{2}-\frac{1}{2} p_{1}^{2}\right)+\frac{1}{4} B_{2} p_{1}^{2}\right) z^{2}+\ldots \tag{3.9}
\end{equation*}
$$

and

$$
\begin{equation*}
\varphi\left(\frac{q(w)-1}{q(w)+1}\right)=1+\frac{1}{2} B_{1} q_{1} w+\left(\frac{1}{2} B_{1}\left(q_{2}-\frac{1}{2} q_{1}^{2}\right)+\frac{1}{4} B_{2} q_{1}^{2}\right) w^{2}+\ldots . \tag{3.10}
\end{equation*}
$$

It follows from (3.7), (3.8), (3.9) and (3.10) that

$$
\begin{align*}
2 a_{2} & =\frac{1}{2} B_{1} p_{1} \\
3(1+\lambda) a_{3}-4 \lambda a_{2}^{2} & =\frac{1}{2} B_{1}\left(p_{2}-\frac{1}{2} p_{1}^{2}\right)+\frac{1}{4} B_{2} p_{1}^{2}  \tag{3.11}\\
-2 a_{2} & =\frac{1}{2} B_{1} q_{1} \\
2(\lambda+3) a_{2}^{2}-3(1+\lambda) a_{3} & =\frac{1}{2} B_{1}\left(q_{2}-\frac{1}{2} q_{1}^{2}\right)+\frac{1}{4} B_{2} q_{1}^{2} . \tag{3.12}
\end{align*}
$$

Dividing (3.11) by $3+3 \lambda$ and taking the absolute values we obtain

$$
\left|a_{3}-\frac{4 \lambda}{3+3 \lambda} a_{2}^{2}\right| \leqq \frac{B_{1}}{6+6 \lambda}\left|p_{2}-\frac{1}{2} p_{1}^{2}\right|+\frac{\left|B_{2}\right|}{12+12 \lambda}\left|p_{1}\right|^{2} .
$$

Now applying Lemma 3.1, we have

$$
\left|a_{3}-\frac{4 \lambda}{3+3 \lambda} a_{2}^{2}\right| \leqq \frac{B_{1}}{3+3 \lambda}+\frac{\left|B_{2}\right|-B_{1}}{12+12 \lambda}\left|p_{1}\right|^{2}
$$

Therefore

$$
\left|a_{3}-\frac{4 \lambda}{3+3 \lambda} a_{2}^{2}\right| \leqq\left\{\begin{array}{lll}
\frac{B_{1}}{3+3 \lambda}, & \text { if } & \left|B_{2}\right| \leqq B_{1} \\
\frac{\left|B_{2}\right|}{3+3 \lambda}, & \text { if } & \left|B_{2}\right| \geqq B_{1}
\end{array}\right.
$$

Adding (3.11) and (3.12), we have

$$
\begin{equation*}
(6-2 \lambda) a_{2}^{2}=\frac{B_{1}}{2}\left(p_{2}+q_{2}\right)-\frac{\left(B_{1}-B_{2}\right)}{4}\left(p_{1}^{2}+q_{1}^{2}\right) \tag{3.13}
\end{equation*}
$$

Dividing (3.13) by $6-2 \lambda$ and taking the absolute values we obtain

$$
\left|a_{2}\right|^{2} \leqq \frac{1}{6-2 \lambda}\left[\frac{B_{1}}{2}\left|p_{2}-\frac{1}{2} p_{1}^{2}\right|+\frac{\left|B_{2}\right|}{4}\left|p_{1}\right|^{2}+\frac{B_{1}}{2}\left|q_{2}-\frac{1}{2} q_{1}^{2}\right|+\frac{\left|B_{2}\right|}{4}\left|q_{1}\right|^{2}\right] .
$$

Once again, apply Lemma 3.1 to obtain

$$
\left|a_{2}\right|^{2} \leqq \frac{1}{6-2 \lambda}\left[\frac{B_{1}}{2}\left(2-\frac{1}{2}\left|p_{1}\right|^{2}\right)+\frac{\left|B_{2}\right|}{4}\left|p_{1}\right|^{2}+\frac{B_{1}}{2}\left(2-\frac{1}{2}\left|q_{1}\right|^{2}\right)+\frac{\left|B_{2}\right|}{4}\left|q_{1}\right|^{2}\right] .
$$

Upon simplification we obtain

$$
\left|a_{2}\right|^{2} \leqq \frac{1}{6-2 \lambda}\left[2 B_{1}+\frac{\left|B_{2}\right|-B_{1}}{2}\left(\left|p_{1}\right|^{2}+\left|q_{1}\right|^{2}\right)\right] .
$$

Therefore

$$
\left|a_{2}\right| \leqq\left\{\begin{array}{lll}
\sqrt{\frac{B_{1}}{3-\lambda}}, & \text { if } & \left|B_{2}\right| \leqq B_{1} \\
\sqrt{\frac{\left|B_{2}\right|}{3-\lambda}}, & \text { if } & \left|B_{2}\right| \geqq B_{1}
\end{array}\right.
$$

which completes the proof.
Q.E.D.

Remark 3.3. Taking

$$
\begin{equation*}
\varphi(z)=\left(\frac{1+z}{1-z}\right)^{\beta}=1+2 \beta z+2 \beta^{2} z^{2}+\ldots, \quad 0<\beta \leqq 1 \tag{3.14}
\end{equation*}
$$

the inequalities (3.1) and (3.2) become

$$
\begin{equation*}
\left|a_{2}\right| \leqq \sqrt{\frac{2 \beta}{3-\lambda}} \quad \text { and } \quad\left|a_{3}-\frac{4 \lambda}{3+3 \lambda} a_{2}^{2}\right| \leqq \frac{2 \beta}{3+3 \lambda} . \tag{3.15}
\end{equation*}
$$

For

$$
\begin{equation*}
\varphi(z)=\frac{1+(1-2 \beta) z}{1-z}=1+2(1-\beta) z+2(1-\beta) z^{2}+\ldots, \quad 0 \leqq \beta<1 \tag{3.16}
\end{equation*}
$$

the inequalities (3.1) and (3.2) become

$$
\begin{equation*}
\left|a_{2}\right| \leqq \sqrt{\frac{2(1-\beta)}{3-\lambda}} \quad \text { and } \quad\left|a_{3}-\frac{4 \lambda}{3-\lambda} a_{2}^{2}\right| \leqq \frac{2(1-\beta)}{3+3 \lambda} \tag{3.17}
\end{equation*}
$$

## 4 Bounds for the second Hankel determinant of $\mathcal{G}_{\sigma}^{\lambda}(\beta)$

Next we state the following lemmas to establish the desired bounds in our study.
Lemma 4.1. [37] If the function $p \in \mathcal{P}$ is given by the series

$$
\begin{equation*}
p(z)=1+p_{1} z+p_{2} z^{2}+p_{3} z^{3}+\cdots, \tag{4.1}
\end{equation*}
$$

then the following sharp estimate holds:

$$
\begin{equation*}
\left|p_{n}\right| \leqq 2, \quad n=1,2, \cdots \tag{4.2}
\end{equation*}
$$

Lemma 4.2. [20] If the function $p \in \mathcal{P}$ is given by the series (4.1), then

$$
\begin{aligned}
& 2 c_{2}=c_{1}^{2}+x\left(4-c_{1}^{2}\right) \\
& 4 c_{3}=c_{1}^{3}+2 c_{1}\left(4-c_{1}^{2}\right) x-c_{1}\left(4-c_{1}^{2}\right) x^{2}+2\left(4-c_{1}^{2}\right)\left(1-|x|^{2}\right) z
\end{aligned}
$$

for some $x, z$ with $|x| \leqq 1$ and $|z| \leqq 1$.
The following theorem provides a bound for the second Hankel determinant of the functions in the class $\mathcal{G}_{\sigma}^{\lambda}(\beta)$.
Theorem 4.3. Let $f$ of the form (1.1) be in $\mathcal{G}_{\sigma}^{\lambda}(\beta)$. Then

$$
\left|a_{2} a_{4}-a_{3}^{2}\right| \leqq\left\{\begin{array}{c}
\frac{(1-\beta)^{2}}{2(1+2 \lambda)}\left[(2-\lambda)(1-\beta)^{2}+1\right] ; \\
\beta \in\left[0,1-\frac{(1+2 \lambda)+\sqrt{(1+2 \lambda)^{2}+18(1+\lambda)^{2}(2-\lambda)}}{6(1+\lambda)(2-\lambda)}\right] \\
\frac{(1-\beta)^{2}}{72(1+2 \lambda)}\left(\begin{array}{c}
36\left[8(1+2 \lambda)(2-\lambda)-(1+2 \lambda)^{2}\right](1-\beta)^{2}
\end{array}\right] \\
\frac{-324(1+\lambda)(1+2 \lambda)(1-\beta)+288(1+2 \lambda)-729(1+\lambda)^{2}}{9(1+\lambda)^{2}(2-\lambda)(1-\beta)^{2}-6(1+\lambda)(1+2 \lambda)(1-\beta)} \\
+8(1+2 \lambda)-18(1+\lambda)^{2} \\
\beta \in\left(1-\frac{(1+2 \lambda)+\sqrt{(1+2 \lambda)^{2}+18(1+\lambda)^{2}(2-\lambda)}}{6(1+\lambda)(2-\lambda)}, 1\right.
\end{array}\right) .
$$

Proof. Let $f \in \mathcal{G}_{\sigma}^{\lambda}(\beta)$. Then

$$
\begin{equation*}
(1-\lambda) f^{\prime}(z)+\lambda\left(1+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right)=\beta+(1-\beta) p(z) \tag{4.3}
\end{equation*}
$$

and

$$
\begin{equation*}
(1-\lambda) g^{\prime}(w)+\lambda\left(1+\frac{w g^{\prime \prime}(w)}{g^{\prime}(w)}\right)=\beta+(1-\beta) q(w) \tag{4.4}
\end{equation*}
$$

where $p, q \in \mathcal{P}$ and defined by

$$
\begin{equation*}
p(z)=1+c_{1} z+c_{2} z^{2}+c_{3} z^{3}+\ldots \tag{4.5}
\end{equation*}
$$

and

$$
\begin{equation*}
q(z)=1+d_{1} w+d_{2} w^{2}+d_{3} w^{3}+\ldots \tag{4.6}
\end{equation*}
$$

It follows from (4.3), (4.4), (4.5) and (4.6) that

$$
\begin{align*}
2 a_{2} & =(1-\beta) c_{1}  \tag{4.7}\\
3(1+\lambda) a_{3}-4 \lambda a_{2}^{2} & =(1-\beta) c_{2}  \tag{4.8}\\
4(1+2 \lambda) a_{4}-18 \lambda a_{2} a_{3}+8 \lambda a_{2}^{3} & =(1-\beta) c_{3} \tag{4.9}
\end{align*}
$$

and

$$
\begin{align*}
-2 a_{2} & =(1-\beta) d_{1}  \tag{4.10}\\
2(3+\lambda) a_{2}^{2}-3(1+\lambda) a_{3} & =(1-\beta) d_{2}  \tag{4.11}\\
2(10+11 \lambda) a_{2} a_{3}-4(5+3 \lambda) a_{2}^{3}-4(1+2 \lambda) a_{4} & =(1-\beta) d_{3} . \tag{4.12}
\end{align*}
$$

From (4.7) and (4.10), we find that

$$
\begin{equation*}
c_{1}=-d_{1} \tag{4.13}
\end{equation*}
$$

and

$$
\begin{equation*}
a_{2}=\frac{1-\beta}{2} c_{1} . \tag{4.14}
\end{equation*}
$$

Now, from (4.8), (4.11) and (4.14), we have

$$
\begin{equation*}
a_{3}=\frac{(1-\beta)^{2}}{4} c_{1}^{2}+\frac{1-\beta}{6(1+\lambda)}\left(c_{2}-d_{2}\right) \tag{4.15}
\end{equation*}
$$

Also, from (4.9) and (4.12), we find that

$$
\begin{equation*}
a_{4}=\frac{5 \lambda(1-\beta)^{3}}{16(1+2 \lambda)} c_{1}^{3}+\frac{5(1-\beta)^{2}}{24(1+\lambda)} c_{1}\left(c_{2}-d_{2}\right)+\frac{1-\beta}{8(1+2 \lambda)}\left(c_{3}-d_{3}\right) \tag{4.16}
\end{equation*}
$$

Then, we can establish that

$$
\begin{align*}
\left|a_{2} a_{4}-a_{3}^{2}\right|= & \left\lvert\, \frac{(\lambda-2)(1-\beta)^{4}}{32(1+2 \lambda)} c_{1}^{4}+\frac{(1-\beta)^{3}}{48(1+\lambda)} c_{1}^{2}\left(c_{2}-d_{2}\right)\right. \\
& \left.+\frac{(1-\beta)^{2}}{16(1+2 \lambda)} c_{1}\left(c_{3}-d_{3}\right)-\frac{(1-\beta)^{2}}{36(1+\lambda)^{2}}\left(c_{2}-d_{2}\right)^{2} \right\rvert\, \tag{4.17}
\end{align*}
$$

According to Lemma 4.2 and (4.13), we write

$$
\begin{align*}
c_{2}-d_{2}= & \frac{\left(4-c_{1}^{2}\right)}{2}(x-y)  \tag{4.18}\\
c_{3}-d_{3}= & \frac{c_{1}^{3}}{2}+\frac{c_{1}\left(4-c_{1}^{2}\right)(x+y)}{2}-\frac{c_{1}\left(4-c_{1}^{2}\right)\left(x^{2}+y^{2}\right)}{4} \\
& \quad+\frac{\left(4-c_{1}^{2}\right)\left[\left(1-|x|^{2}\right) z-\left(1-|y|^{2}\right) w\right]}{2} \tag{4.19}
\end{align*}
$$

for some $x, y, z$ and $w$ with $|x| \leqq 1,|y| \leqq 1,|z| \leqq 1$ and $|w| \leqq 1$. Using (4.18) and (4.19) in (4.17), we have

$$
\begin{aligned}
\left|a_{2} a_{4}-a_{3}^{2}\right|= & \left\lvert\, \frac{(\lambda-2)(1-\beta)^{4} c_{1}^{4}}{32(1+2 \lambda)}+\frac{(1-\beta)^{3} c_{1}^{2}\left(4-c_{1}^{2}\right)(x-y)}{96(1+\lambda)}+\frac{(1-\beta)^{2} c_{1}}{16(1+2 \lambda)}\right. \\
& \times\left[\frac{c_{1}^{3}}{2}+\frac{c_{1}\left(4-c_{1}^{2}\right)(x+y)}{2}-\frac{c_{1}\left(4-c_{1}^{2}\right)\left(x^{2}+y^{2}\right)}{4}\right. \\
& \left.\quad+\frac{\left(4-c_{1}^{2}\right)\left[\left(1-|x|^{2}\right) z-\left(1-|y|^{2}\right) w\right]}{2}\right] \left.-\frac{(1-\beta)^{2}\left(4-c_{1}^{2}\right)^{2}}{144(1+\lambda)^{2}}(x-y)^{2} \right\rvert\, \\
\leqq & \frac{(2-\lambda)(1-\beta)^{4}}{32(1+2 \lambda)} c_{1}^{4}+\frac{(1-\beta)^{2} c_{1}^{4}}{32(1+2 \lambda)}+\frac{(1-\beta)^{2} c_{1}\left(4-c_{1}^{2}\right)}{16(1+2 \lambda)} \\
& +\left[\frac{(1-\beta)^{3} c_{1}^{2}\left(4-c_{1}^{2}\right)}{96(1+\lambda)}+\frac{(1-\beta)^{2} c_{1}^{2}\left(4-c_{1}^{2}\right)}{32(1+2 \lambda)}\right](|x|+|y|) \\
+ & {\left[\frac{(1-\beta)^{2} c_{1}^{2}\left(4-c_{1}^{2}\right)}{64(1+2 \lambda)}-\frac{(1-\beta)^{2} c_{1}\left(4-c_{1}^{2}\right)}{32(1+2 \lambda)}\right]\left(|x|^{2}+|y|^{2}\right) } \\
& +\frac{(1-\beta)^{2}\left(4-c_{1}^{2}\right)^{2}}{144(1+\lambda)^{2}}(|x|+|y|)^{2} .
\end{aligned}
$$

Since $p \in \mathcal{P}$, so $\left|c_{1}\right| \leqq 2$. Letting $c_{1}=c$, we may assume without restriction that $c \in[0,2]$. Thus, for $\gamma_{1}=|x| \leqq 1$ and $\gamma_{2}=|y| \leqq 1$, we obtain

$$
\begin{aligned}
& \left|a_{2} a_{4}-a_{3}^{2}\right| \leqq T_{1}+T_{2}\left(\gamma_{1}+\gamma_{2}\right)+T_{3}\left(\gamma_{1}^{2}+\gamma_{2}^{2}\right)+T_{4}\left(\gamma_{1}+\gamma_{2}\right)^{2}=F\left(\gamma_{1}, \gamma_{2}\right) \\
& T_{1}=T_{1}(c)=\frac{(2-\lambda)(1-\beta)^{4}}{32(1+2 \lambda)} c^{4}+\frac{(1-\beta)^{2} c^{4}}{32(1+2 \lambda)}+\frac{(1-\beta)^{2} c\left(4-c^{2}\right)}{16(1+2 \lambda)} \geqq 0 \\
& T_{2}=T_{2}(c)=\frac{(1-\beta)^{3} c^{2}\left(4-c^{2}\right)}{96(1+\lambda)}+\frac{(1-\beta)^{2} c^{2}\left(4-c^{2}\right)}{32(1+2 \lambda)} \geqq 0 \\
& T_{3}=T_{3}(c)=\frac{(1-\beta)^{2} c^{2}\left(4-c^{2}\right)}{64(1+2 \lambda)}-\frac{(1-\beta)^{2} c\left(4-c^{2}\right)}{32(1+2 \lambda)} \leqq 0 \\
& T_{4}=T_{4}(c)=\frac{(1-\beta)^{2}\left(4-c^{2}\right)^{2}}{144(1+\lambda)^{2}} \geqq 0
\end{aligned}
$$

Now we need to maximize $F\left(\gamma_{1}, \gamma_{2}\right)$ in the closed square $\mathbb{S}:=\left\{\left(\gamma_{1}, \gamma_{2}\right): 0 \leqq \gamma_{1} \leqq 1,0 \leqq \gamma_{2} \leqq 1\right\}$ for $c \in[0,2]$. We must investigate the maximum of $F\left(\gamma_{1}, \gamma_{2}\right)$ according to $c \in(0,2), c=0$ and $c=2$ taking into account the sign of $F_{\gamma_{1} \gamma_{1}} F_{\gamma_{2} \gamma_{2}}-\left(F_{\gamma_{1} \gamma_{2}}\right)^{2}$.

Firstly, let $c \in(0,2)$. Since $T_{3}<0$ and $T_{3}+2 T_{4}>0$ for $c \in(0,2)$, we conclude that

$$
F_{\gamma_{1} \gamma_{1}} F_{\gamma_{2} \gamma_{2}}-\left(F_{\gamma_{1} \gamma_{2}}\right)^{2}<0
$$

Thus, the function $F$ cannot have a local maximum in the interior of the square $\mathbb{S}$. Now, we investigate the maximum of $F$ on the boundary of the square $\mathbb{S}$.

For $\gamma_{1}=0$ and $0 \leqq \gamma_{2} \leqq 1$ (similarly $\gamma_{2}=0$ and $0 \leqq \gamma_{1} \leqq 1$ ) we obtain

$$
F\left(0, \gamma_{2}\right)=G\left(\gamma_{2}\right)=T_{1}+T_{2} \gamma_{2}+\left(T_{3}+T_{4}\right) \gamma_{2}^{2} .
$$

(i) The case $T_{3}+T_{4} \geqq 0$ : In this case for $0<\gamma_{2}<1$ and any fixed $c$ with $0<c<2$, it is clear that $G^{\prime}\left(\gamma_{2}\right)=2\left(T_{3}+T_{4}\right) \gamma_{2}+T_{2}>0$, that is, $G\left(\gamma_{2}\right)$ is an increasing function. Hence, for fixed $c \in(0,2)$, the maximum of $G\left(\gamma_{2}\right)$ occurs at $\gamma_{2}=1$ and

$$
\max G\left(\gamma_{2}\right)=G(1)=T_{1}+T_{2}+T_{3}+T_{4} .
$$

(ii) The case $T_{3}+T_{4}<0$ : Since $T_{2}+2\left(T_{3}+T_{4}\right) \geqq 0$ for $0<\gamma_{2}<1$ and any fixed $c$ with $0<c<2$, it is clear that $T_{2}+2\left(T_{3}+T_{4}\right)<2\left(T_{3}+T_{4}\right) \gamma_{2}+T_{2}<T_{2}$ and so $G^{\prime}\left(\gamma_{2}\right)>0$. Hence for fixed $c \in(0,2)$, the maximum of $G\left(\gamma_{2}\right)$ occurs at $\gamma_{2}=1$ and also for $c=2$ we obtain

$$
\begin{equation*}
F\left(\gamma_{1}, \gamma_{2}\right)=\frac{(1-\beta)^{2}}{2(1+2 \lambda)}\left[(2-\lambda)(1-\beta)^{2}+1\right] . \tag{4.20}
\end{equation*}
$$

Taking into account the value (4.20) and the cases $i$ and $i i$, for $0 \leqq \gamma_{2}<1$ and any fixed $c$ with $0 \leqq c \leqq 2$ we have

$$
\max G\left(\gamma_{2}\right)=G(1)=T_{1}+T_{2}+T_{3}+T_{4} .
$$

For $\gamma_{1}=1$ and $0 \leqq \gamma_{2} \leqq 1$ (similarly $\gamma_{2}=1$ and $0 \leqq \gamma_{1} \leqq 1$ ), we obtain

$$
F\left(1, \gamma_{2}\right)=H\left(\gamma_{2}\right)=\left(T_{3}+T_{4}\right) \gamma_{2}^{2}+\left(T_{2}+2 T_{4}\right) \gamma_{2}+T_{1}+T_{2}+T_{3}+T_{4}
$$

Similarly, to the above cases of $T_{3}+T_{4}$, we get that

$$
\max H\left(\gamma_{2}\right)=H(1)=T_{1}+2 T_{2}+2 T_{3}+4 T_{4} .
$$

Since $G(1) \leqq H(1)$ for $c \in(0,2)$, $\max F\left(\gamma_{1}, \gamma_{2}\right)=F(1,1)$ on the boundary of the square $\mathbb{S}$. Thus the maximum of $F$ occurs at $\gamma_{1}=1$ and $\gamma_{2}=1$ in the closed square $\mathbb{S}$.
Let $K:(0,2) \rightarrow \mathbb{R}$

$$
\begin{equation*}
K(c)=\max F\left(\gamma_{1}, \gamma_{2}\right)=F(1,1)=T_{1}+2 T_{2}+2 T_{3}+4 T_{4} . \tag{4.21}
\end{equation*}
$$

Substituting the values of $T_{1}, T_{2}, T_{3}$ and $T_{4}$ in the function $K$ defined by (4.21), yields

$$
\begin{aligned}
K(c)= & \frac{(1-\beta)^{2}}{288(1+\lambda)^{2}(1+2 \lambda)}\left\{\left[9(1-\beta)^{2}(1+\lambda)^{2}(2-\lambda)\right.\right. \\
& \left.-6(1-\beta)(1+\lambda)(1+2 \lambda)-18(1+\lambda)^{2}+8(1+2 \lambda)\right] c^{4} \\
& +\left[24(1-\beta)(1+\lambda)(1+2 \lambda)+108(1+\lambda)^{2}-64(1+2 \lambda)\right] c^{2} \\
& +128(1+2 \lambda)\} .
\end{aligned}
$$

Assume that $K(c)$ has a maximum value in an interior of $c \in(0,2)$, by elementary calculation, we find

$$
\begin{aligned}
K^{\prime}(c)= & \frac{(1-\beta)^{2}}{72(1+\lambda)^{2}(1+2 \lambda)}\left\{\left[9(1-\beta)^{2}(1+\lambda)^{2}(2-\lambda)\right.\right. \\
& \left.-6(1-\beta)(1+\lambda)(1+2 \lambda)-18(1+\lambda)^{2}+8(1+2 \lambda)\right] c^{3} \\
& \left.+\left[12(1-\beta)(1+\lambda)(1+2 \lambda)+54(1+\lambda)^{2}-32(1+2 \lambda)\right] c\right\} .
\end{aligned}
$$

After some calculations we concluded the following cases:

Case 4.4. Let

$$
\left[9(1-\beta)^{2}(1+\lambda)^{2}(2-\lambda)-6(1-\beta)(1+\lambda)(1+2 \lambda)-18(1+\lambda)^{2}+8(1+2 \lambda)\right] \geqq 0
$$

that is,

$$
\beta \in\left[0,1-\frac{(1+2 \lambda)+\sqrt{(1+2 \lambda)^{2}+(2-\lambda)\left[18(1+\lambda)^{2}-8(1+2 \lambda)\right]}}{3(1+\lambda)(2-\lambda)}\right]
$$

Therefore $K^{\prime}(c)>0$ for $c \in(0,2)$. Since $K$ is an increasing function in the interval ( 0,2 ), maximum point of $K$ must be on the boundary of $c \in[0,2]$, that is, $c=2$. Thus, we have

$$
\max _{0<c<2} K(c)=K(2)=\frac{(1-\beta)^{2}}{2(1+2 \lambda)}\left[(2-\lambda)(1-\beta)^{2}+1\right] .
$$

Case 4.5. Let

$$
\left[9(1-\beta)^{2}(1+\lambda)^{2}(2-\lambda)-6(1-\beta)(1+\lambda)(1+2 \lambda)-18(1+\lambda)^{2}+8(1+2 \lambda)\right]<0
$$

that is,

$$
\beta \in\left[1-\frac{(1+2 \lambda)+\sqrt{(1+2 \lambda)^{2}+(2-\lambda)\left[18(1+\lambda)^{2}-8(1+2 \lambda)\right]}}{3(1+\lambda)(2-\lambda)}, 1\right] .
$$

Then $K^{\prime}(c)=0$ implies the real critical point $c_{0_{1}}=0$ or

$$
c_{0_{2}}=\sqrt{\frac{-12(1+\lambda)(1+2 \lambda)(1-\beta)-54(1+\lambda)^{2}+32(1+2 \lambda)}{9(1-\beta)^{2}(1+\lambda)^{2}(2-\lambda)-6(1-\beta)(1+\lambda)(1+2 \lambda)-18(1+\lambda)^{2}+8(1+2 \lambda)}} .
$$

When

$$
\beta \in\left(1-\frac{(1+2 \lambda)+\sqrt{(1+2 \lambda)^{2}+(2-\lambda)\left[18(1+\lambda)^{2}-8(1+2 \lambda)\right]}}{3(1+\lambda)(2-\lambda)}, 1-\frac{(1+2 \lambda)+\sqrt{\left.(1+2 \lambda)^{2}+18(1+\lambda)^{2}(2-\lambda)\right]}}{6(1+\lambda)(2-\lambda)}\right]
$$

We observe that $c_{0_{2}} \geqq 2$, that is, $c_{0_{2}}$ is out of the interval $(0,2)$. Therefore, the maximum value of $K(c)$ occurs at $c_{0_{1}}=0$ or $c=c_{0_{2}}$ which contradicts our assumption of having the maximum value at the interior point of $c \in[0,2]$. Since $K$ is an increasing function in the interval $(0,2)$, maximum point of $K$ must be on the boundary of $c \in[0,2]$ that is $c=2$. Thus, we have

$$
\max _{0 \leqq c \leqq 2} K(c)=K(2)=\frac{(1-\beta)^{2}}{2(1+2 \lambda)}\left[1+(2-\lambda)(1-\beta)^{2}\right] .
$$

When $\beta \in\left(1-\frac{(1+2 \lambda)+\sqrt{\left.(1+2 \lambda)^{2}+18(1+\lambda)^{2}(2-\lambda)\right]}}{6(1+\lambda)(2-\lambda)}, 1\right)$, we observe that $c_{0_{2}}<2$, that is, $c_{0_{2}}$ is an interior of the interval $[0,2]$. Since $K^{\prime \prime}\left(c_{0_{2}}\right)<0$, the maximum value of $K(c)$ occurs at $c=c_{0_{2}}$.

Thus, we have

$$
\begin{aligned}
\max _{0 \leqq c \leqq 2} K(c) & =K\left(c_{0_{2}}\right) \\
& =\frac{(1-\beta)^{2}}{72(1+2 \lambda)}\left(\begin{array}{c}
36\left[8(1+2 \lambda)(2-\lambda)-(1+2 \lambda)^{2}\right](1-\beta)^{2} \\
\frac{-324(1+\lambda)(1+2 \lambda)(1-\beta)+288(1+2 \lambda)-729(1+\lambda)^{2}}{9(1+\lambda)^{2}(2-\lambda)(1-\beta)^{2}} \\
-6(1+\lambda)(1+2 \lambda)(1-\beta)+8(1+2 \lambda)-18(1+\lambda)^{2}
\end{array}\right) .
\end{aligned}
$$

This completes the proof.
Q.E.D.

Corollary 4.6. Let $f$ of the form (1.1) be in $\mathcal{H}_{\sigma}^{\beta}$. Then

$$
\left|a_{2} a_{4}-a_{3}^{2}\right| \leqq \begin{cases}\frac{(1-\beta)^{2}\left[1+2(1-\beta)^{2}\right]}{2} ; & \beta \in\left[0, \frac{11-\sqrt{37}}{12}\right] \\ \frac{(1-\beta)^{2}\left[60 \beta^{2}-84 \beta-25\right]}{16\left(9 \beta^{2}-15 \beta+1\right)} ; & \beta \in\left(\frac{11-\sqrt{37}}{12}, 1\right) .\end{cases}
$$

Corollary 4.7. Let $f$ of the form (1.1) be in $\mathcal{H}_{\sigma}$. Then

$$
\left|a_{2} a_{4}-a_{3}^{2}\right| \leqq \frac{3}{2}
$$

Remark 4.8. For $\lambda=1$, the result obtained in the Theorem 4.3 coincides with results in $[16$, Theorem 2.3, p.305].

## Acknowledgements

The authors would like to thank Prof. Dr. H. M. Srivastava, Professor Emeritus, Department of Mathematics and Statistics, University of Victoria, Victoria, British Columbia V8W 3R4, Canada and Prof. Dr. H. Orhan, Department of Mathematics, Faculty of Science, Ataturk University, 25240 Erzurum, Turkey for their valuable guidance and suggestions while preparing this manuscript. Also, the authors would like to thank the referees for his valuable suggestions and comments to the betterment of article which is in the present form.

## References

[1] N. M. Alarifi, R. M. Ali and V. Ravichandran, On the second Hankel determinant for the $k^{\text {th }}$ root transform of analytic functions, Filomat, 31 (2) (2017), 227-245.
[2] R. M. Ali, S. K. Lee, V. Ravichandran and S. Supramaniam, The Fekete-Szegö coefficient functional for transforms of analytic functions, Bull. Iranian Math. Soc., 35 (2) (2009), 119142, 276.
[3] R. M. Ali, S. K. Lee, V. Ravichandran and S. Supramanian, Coefficient estimates for biunivalent Ma-Minda starlike and convex functions, Appl. Math. Lett., 25 (3) (2012), 344-351.
[4] S. Altınkaya and S. Yalçin, Fekete-Szegö inequalities for classes of bi-univalent functions defined by subordination, Adv. Math. Sci. J. 3 (2) (2014), 63-71
[5] Ş. Altınkaya and S. Yalçin, Second Hankel determinant for bi-starlike functions of order $\beta$, Matematiche (Catania) 71 (1) (2016), 115-125.
[6] Ş. Altınkaya and S. Yalçın, Upper bound of second Hankel determinant for bi-Bazilevič functions, Mediterr. J. Math. 13 (6) (2016), 4081-4090.
[7] S. Altınkaya and S. Yalçın, Construction of second Hankel determinant for a new subclass of bi-univalent functions,Turk J Math; doi: 10.3906/mat-1507-39.
[8] S. Azizi, A. Ebadian and Sh. Najafzadeh, Coefficient estimates for a subclass of bi-univalent functions, Commun. Adv. Comput. Sci. Appl., 1 (2015), 41-44.
[9] D. A. Brannan and T. S. Taha, On some classes of bi-univalent functions, Studia Univ. BabesBolyai Math., 31 (2) (1986), 70-77.
[10] S. Bulut, Coefficient estimates for a class of analytic and bi-univalent functions, Novi Sad J. Math., 43 (2) (2013), 59-65.
[11] S. Bulut, N. Magesh and V. K. Balaji, Initial bounds for analytic and bi-univalent functions by means of Chebyshev polynomials, J. Class. Anal. 11 (1) (2017), 83-89.
[12] M. Çağlar, E. Deniz and H. M. Srivastava, Second Hankel determinant for certain subclasses of bi-univalent functions, Turkish J. Math. 41 (3) (2017), 694-706.
[13] M. Çağlar, H. Orhan and N. Yağmur, Coefficient bounds for new subclasses of bi-univalent functions, Filomat,27 (7) (2013), 1165-1171.
[14] V. K. Deekonda and R. Thoutreedy, An upper bound to the second Hankel determinant for functions in Mocanu class, Vietnam J. Math., April-2014 (On line version).
[15] E. Deniz, Certain subclasses of bi-univalent functions satisfying subordinate conditions, J. Class. Anal. 2 (1) (2013), 49-60.
[16] E. Deniz, M. Çağlar and H. Orhan, Second Hankel determinant for bi-starlike and bi-convex functions of order $\beta$, Appl. Math. Comput., 271 (2015), 301?-307.
[17] P. L. Duren, Univalent functions, Grundlehren der Mathematischen Wissenschaften, 259, Springer, New York, 1983.
[18] M. Fekete and G. Szegö, Eine Bemerkung Uber Ungerade Schlichte Funktionen, J. London Math. Soc. S1-8 (2), 85.
[19] B. A. Frasin and M. K. Aouf, New subclasses of bi-univalent functions, Appl. Math. Lett., 24 (2) (2011), 1569-1573.
[20] U. Grenander and G. Szegö, Toeplitz forms and their applications, California Monographs in Mathematical Sciences, Univ. California Press, Berkeley, 1958.
[21] J. M. Jahangiri, On the coefficients of powers of a class of Bazilevic functions, Indian J. Pure Appl. Math., 17 (9) (1986), 1140-1144.
[22] J. M. Jahangiri, S. G. Hamidi and S. Abd. Halim, Coefficients of bi-univalent functions with positive real part derivatives, Bull. Malays. Math. Sci. Soc. (2) 37 (3) (2014), 633-640.
[23] J. M. Jahangiri, N. Magesh and J. Yamini, Fekete-Szegö inequalities for classes of bi-starlike and bi-convex functions, Electron. J. Math. Anal. Appl., 3 (1) (2015), 133-140.
[24] S. Kanas, E. Analouei Adegani and A. Zireh, An unified approach to second Hankel determinant of bi-subordinate functions, Mediterr. J. Math. 14 (6) (2017), 14:233.
[25] F. R. Keogh and E. P. Merkes, A coefficient inequality for certain classes of analytic functions, Proc. Amer. Math. Soc. 20 (1969), 8-12.
[26] B. Kowalczyk, A. Lecko and H. M. Srivastava, A note on the Fekete-Szegö problem for close-to-convex functions with respect to convex functions, Publ. Inst. Math. (Beograd) (Nouvelle Ser.) 101 (115) (2017), 143-149;
[27] K. Lee, V. Ravichandran and S. Supramaniam, Bounds for the second Hankel determinant of certain univalent functions, J. Inequal. Appl., 281 (2013), 1-17.
[28] W. C. Ma and D. Minda, A unified treatment of some special classes of univalent functions, in: Proceedings of the Conference on Complex Analysis, Tianjin, 1992, 157-169, Conf. Proc. Lecture Notes Anal. I, Int. Press, Cambridge, MA, 1994.
[29] G. Murugusundaramoorthy and N. Magesh, Coefficient inequalities for certain classes of analytic functions associated with Hankel determinant, Bull. Math. Anal. Appl., 1 (3) (2009), 85-89.
[30] H. Orhan, E. Deniz and D. Raducanu, The Fekete-Szegö problem for subclasses of analytic functions defined by a differential operator related to conic domains, Comput. Math. Appl. 59 (1) (2010), 283-295.
[31] H. Orhan, N. Magesh and V. K. Balaji, Initial coefficient bounds for a general class of biunivalent functions, Filomat, 29 (6) (2015), 1259?-1267.
[32] H. Orhan, N. Magesh and V. K. Balaji, Fekete-Szegö problem for certain classes of Ma-Minda bi-univalent functions, Afr. Mat. 27 (5-6) (2016), 889-897.
[33] H. Orhan, N. Magesh and V. K. Balaji, Certain classes of bi-univalent functions with bounded boundary variation, Tbilisi Math. J. 10 (4) (2017), 17-27.
[34] H. Orhan, N. Magesh and J. Yamini, Bounds for the second Hankel determinant of certain bi-univalent functions, Turkish J. Math. 40 (3) (2016), 679-687.
[35] H. Orhan, E. Toklu and E. Kadıoğlu, Second Hankel determinant problem for k-bi-starlike functions, Filomat 31 (12) (2017), 3897-3904.
[36] Z. Peng and Q. Han, On the coefficients of several classes of bi-univalent functions, Acta Mathematica Scientia, 34B (1) (2014), 228-240.
[37] C. Pommerenke, Univalent functions, Vandenhoeck \& Ruprecht, Göttingen, 1975.
[38] H. M. Srivastava and D. Bansal, Coefficient estimates for a subclass of analytic and bi-univalent functions, J. Egyptian Math. Soc. 23 (2) (2015), 242-246.
[39] H. M. Srivastava, S. Bulut, M. Çağlar, and N. Yağmur, Coefficient estimates for a general subclass of analytic and bi-univalent functions, Filomat 27 (5) (2013), 831-842.
[40] H. M. Srivastava, S. S. Eker and R. M. Ali, Coefficient bounds for a certain class of analytic and bi-univalent functions, Filomat 29 (8) (2015), 1839-1845.
[41] H. M. Srivastava, S. Gaboury and F. Ghanim, Coefficient estimates for some subclasses of $M$-fold symmetric bi-univalent functions, Acta Univ. Apulensis Math. Inform. No. 41 (2015), 153-164.
[42] H. M. Srivastava, S. Gaboury and F. Ghanim, Initial coefficient estimates for some subclasses of $m$-fold symmetric bi-univalent functions, Acta Math. Sci. Ser. B Engl. Ed. 36 (3) (2016), 863-871.
[43] H. M. Srivastava, S. Gaboury and F. Ghanim, Coefficient estimates for some general subclasses of analytic and bi-univalent functions, Afr. Mat. 28 (5-6) (2017), 693-706.
[44] H. M. Srivastava,S. B. Joshi, S. Joshi and H. Pawar, Coefficient estimates for certain subclasses of meromorphically bi-univalent functions, Palest. J. Math. 5 (2016), Special Issue, 250-258.
[45] H. M. Srivastava, N. Magesh and J. Yamini, Initial coefficient estimates for bi- $\lambda$-convex and bi- $\mu$-starlike functions connected with arithmetic and geometric means, Electron. J. Math. Anal. Appl. 2 (2) (2014), 152-162.
[46] H. M. Srivastava, A. K. Mishra and M. K. Das, The Fekete-Szegő problem for a subclass of close-to-convex functions, Complex Variables Theory Appl. 44 (2) (2001), 145-163.
[47] H. M. Srivastava, A. K. Mishra and P. Gochhayat, Certain subclasses of analytic and biunivalent functions, Appl. Math. Lett., 23 (10) (2010), 1188-1192.
[48] H. M. Srivastava, G. Murugusundaramoorthy, N. Magesh, On certain subclasses of bi-univalent functions associated with Hohlov operator. Global J. Math. Anal. 1 (2) (2013), 67-73 .
[49] H. M. Srivastava, S. Sivasubramanian and R. Sivakumar, Initial coefficient bounds for a subclass of $m$-fold symmetric bi-univalent functions, Tbilisi Math. J. 7 (2) (2014), 1-10.
[50] H. Tang, H. M. Srivastava, S. Sivasubramanian and P. Gurusamy, The Fekete-Szegö functional problems for some subclasses of $m$-fold symmetric bi-univalent functions, J. Math. Inequal. 10 (4) (2016), 1063-1092.
[51] Q.-H. Xu, Y.-C. Gui and H. M. Srivastava, Coefficient estimates for a certain subclass of analytic and bi-univalent functions, Appl. Math. Lett. 25 (6) (2012), 990-994.
[52] Q.-H. Xu, H.-G. Xiao and H. M. Srivastava, A certain general subclass of analytic and biunivalent functions and associated coefficient estimate problems, Appl. Math. Comput. 218 (23) (2012), 11461-11465.
[53] P. Zaprawa, On the Fekete-Szegö problem for classes of bi-univalent functions, Bull. Belg. Math. Soc. Simon Stevin, 21 (1) (2014), 169-178.
[54] P. Zaprawa, Estimates of initial coefficients for bi-univalent functions, Abstr. Appl. Anal., 2014, Art. ID 357480, 1-6.

